A new anti depressant is given to patients with four levels of symptoms. You measure how many days they have to take the drug before it is effective.

a. H0:


b. HA:

Your data:



Mild

Moderate

Advanced

Severe


15

23


15


15



20

22


17


14



22

20


18


16



16

22


20


15



20

24


19


18


∑X
93

111


89


78



∑X2
1765

2473


1599


1226
c. Complete the source table:

Source


SS


df


s2


F
Between

Within

Total

d. What do you conclude about your independent variable?


e. Do multiple comparison testing and explain what the results mean about differences in how long the new 


drug takes to work.
Your answer should be:

	

	

	
	Sum of Squares
	df
	Mean Square
	F
	Sig.

	Between Groups
	112.950
	3
	37.650
	8.859
	.001

	Within Groups
	68.000
	16
	4.250
	
	

	Total
	180.950
	19
	
	
	


Moderate and Advanced symptom groups prob came from populations that have different means for how long 
the drug takes to work, and Moderate and Severe pop means are probably also different (or, the drug prob 
really does take a different amount of time to work for moderate compared to advanced symptoms, and for 
moderate compared to severe ones)
